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Sr Questions Answers Choice

1 I got down the..................... and read all I came to read.
A. Paper
B. Handbill
C. Calender
D. Book

2 The slight ailment of which I had a touch................. I fancy it was.
A. scariet
B. Flu
C. eye sore
D. Hay fever

3 I remember going to the ................... Museum one day to read up the treatment.
A. American
B. French
C. German
D. British

4 the ........................... seems in every case to correspond exactly with all the sensations that I
have ever felt.

A. Diagnosis
B. Diagram
C. Disclosure
D. Dislocation

5 I am suffering from the particular disease there in dealt with in its most virulent.................
A. Farm
B. Form
C. Firm
D. formation

6 I never read a patent medicine advertisement without being ................. to the conclusion that
I am ill.

A. Impel
B. Imply
C. Compel
D. Implied

7 In it were detailed the various........... by which a man could tel when his liver was out of order.
A. Symptoms
B. system
C. Sympathy
D. Syringe

8 I had just been reading a patent liver pili.................
A. Circle
B. Circular
C. Circled
D. Circulation

9 It was my .......................... that was out of order.
A. Brain
B. eye
C. Liver
D. lung

10 The name of the writer of the story "The Man who was a hospital" is............
A. Byron
B. Thackeray
C. Jerome K. Jerome
D. H.G.Wells

11 He bought the same bat which I did.

A. He bought the same bat which I
bought
B. He bought the same bat that I did
C. He bought the same bat which I
had bought
D. He bought the same bet as I did

12 Wheats are a good food.
A. Wheat is a good food
B. Wheats are good food
C. Wheats is a good food
D. The wheat is a good food

13 I have received your letter yesterday.

A. I had received your letter
yesterday
B. I receive your letter yesterday
C. I has received your letter

yesterday
D. I received your letter yesterday

14 None of these two have failed.
A. None of these two has failed
B. Neither of these two have failed
C. Neither of these two has failed
D. None of these two has been failed

A. He is my elder brother



15 He is my older brother.
A. He is my elder brother
B. He is my old brother
C. He is my oldest brother
D. He is my bigger brother

16 He broke the glass.................. a hundred pieces.
A. In
B. Into
C. from
D. at

17 Her mother is at home.............. cooking.
A. at
B. in
C. with
D. for

18 She is fond............ singing
A. with
B. to
C. at
D. of

19 He did not agree.................. my proposal.
A. on
B. to
C. with
D. from

20 He aimed ................ the deer and fired.
A. In
B. for
C. at
D. with


